

ON CERTAIN INTEGRAL OPERATORS DEFINED ON SOME CLASSES OF UNIVALENT FUNCTIONS

H.A. AL-KHARSANI

ABSTRACT. Let A denote the class of analytic functions f defined in the unit disc satisfying the conditions $f(0) = 0 = f'(0) - 1$. Let b be a nonzero complex number and let $S_n(b)$, $K_n(b)$ and $C_n^*(b)$ be the classes defined by virtue of the Ruscheweyh derivative. In this paper we study some properties of $S_n(b)$ and $K_n(b)$. Integral operators $I_\lambda(f)$ are also discussed for these classes.

1. INTRODUCTION

Let S denote the subclass of A consisting of univalent functions in the unit disc U and for a nonzero complex number b , let $C(b)$, $S^*(b)$, and $K(b)$ denote the subclasses of S consisting of convex, starlike and close-to-convex functions of complex order b , respectively [3], [2].

The Hadamard product of two functions $f, g \in A$ is denoted by $f * g$. For $n \in N_0 = \{0, 1, 2, 3, \dots\}$, let $D^n f = \frac{z}{(1-z)^{n+1}} * f$, so that

$$D^n f = z(z^{n-1} f)^n / n!$$

For $n \in N_0$, a function $f \in A$ is said to belong to the class S_n , if and only if for $z \in U$

$$\operatorname{Re} \frac{z(D^n f(z))'}{D^n f(z)} > 0.$$

The functions in S_n are starlike and hence univalent [12].

Definition 1.1. For $n \in N_0$, a function $f \in S$ is said to belong to the class $K_n(b)$ if and only if

$$\operatorname{Re} \left[1 + \frac{1}{b} \left\{ \frac{(D^n f(z))'}{D^n g(z)} - 1 \right\} \right] > 0$$

for some $g \in S_n$ [2]. Here $K_0(b) = K(b)$.

Definition 1.2. A function $f \in S$ is in $C_n^*(b)$, where $n \in N_0$, if and only if

$$\operatorname{Re} \left[1 + \frac{1}{b} \left\{ \frac{[z(D^n f(z))']'}{(D^n g(z))'} - 1 \right\} \right] > 0$$

for all $z \in U$ and for some function $g, zg' \in S_n$. From the definition it follows that $f \in C_n^*(b)$ if and only if $zf' \in K_n(b)$ [8].

We now introduce the following class $S_n(b)$ as follows:

For $n \in N_0$, a function $f \in S$ is in $S_n(b)$ if and only if

$$\operatorname{Re} \left[1 + \frac{1}{b} \left\{ \frac{z(D^n f(z))'}{D^n f(z)} - 1 \right\} \right] > 0, \quad z \in U.$$

We note that $S_0(b) = S(b)$ and $S_1(b) = C(b)$.

The class $S_n = S_n(1)$ was considered earlier by Singh and Singh [12].

Let the operator $I_\lambda : A \rightarrow A$ be defined by $f = I_\lambda(F)$, as

$$(1.1) \quad f(z) = \frac{1}{\lambda} z^{1-\frac{1}{\lambda}} \int_0^z t^{\frac{1}{\lambda}-2} F(t) dt,$$

where $0 < \lambda \leq 1$.

2. MAIN RESULTS

Theorem 2.1. Let f be defined as in (1.1), and let $F \in S_n(b)$. Then $f \in S_n(\gamma)$ where γ satisfies the following

$$|\gamma| = \frac{\lambda + 2\lambda|b| + \sqrt{\lambda^2 + 4\lambda^2|b|^2 + 4\lambda^2|b| - 8\lambda}}{4\lambda}$$

(where $0 < \text{Arg } b = \text{Arg } \gamma \leq \pi$).

Proof. Let

$$(2.1) \quad \frac{z(D^n f(z))'}{D^n f(z)} = \gamma p(z) + (1 - \gamma)$$

where $p(z) = 1 + \sum_{n=1}^{\infty} C_n z^n$. We will prove that $\text{Re } p(z) > 0$.

From (1.1) it follows that

$$D^n F(z) = (1 - \lambda)D^n f(z) + \lambda z(D^n f(z))',$$

hence

$$(2.2) \quad \frac{z(D^n F(z))'}{D^n F(z)} = \frac{\frac{(1 - \lambda)z(D^n f(z))'}{D^n f(z)} + \frac{\lambda z(z(D^n f(z)))'}{D^n f(z)}}{1 - \lambda + \frac{\lambda z(D^n f(z))'}{D^n f(z)}}$$

From (2.1) we have

$$\frac{z(z(D^n f(z)))'}{D^n f(z)} = \frac{z(D^n f(z))'}{D^n f(z)} [\gamma p(z) + 1 - \gamma] + \gamma z p'(z).$$

Thus

$$\frac{z(D^n F(z))'}{D^n F(z)} = \gamma p(z) + (1 - \gamma) + \frac{\lambda \gamma z p'(z)}{1 - \lambda \gamma + \lambda \gamma p(z)}.$$

or

$$(2.3) \quad 1 + \frac{1}{b} \left(\frac{z(D^n F(z))'}{D^n F(z)} - 1 \right) = 1 + \frac{1}{b} \left[\gamma p(z) - \gamma + \frac{\lambda \gamma z p'(z)}{1 - \lambda \gamma + \lambda \gamma p(z)} \right].$$

Now we can form the function $\psi(u, v)$ by taking $u = p(z)$, $v = z p'(z)$, in (2.3) as

$$(2.4) \quad \psi(u, v) = \frac{b - \gamma}{b} + \frac{\gamma}{b} u + \frac{\lambda \gamma v}{b(1 - \lambda \gamma + \lambda \gamma u)}.$$

Taking $D = \mathcal{C}/\{\frac{\gamma\lambda-1}{\lambda\gamma}\} \times \mathcal{C}$, we have

$$\begin{aligned} \operatorname{Re} \psi(iu_2, v_1) &= \frac{r_1 - r_2}{r_1} \\ &+ \frac{r_2}{r_1} \frac{\lambda v_1(1 - \lambda r_2 \cos \theta - \lambda r_2 \sin \theta u_2)}{(1 + \lambda^2 r_2^2 + \lambda^2 r_2^2 u_2^2 - 2\lambda r_2 \cos \theta - 2\lambda r_2 \sin \theta u_2)} \end{aligned}$$

where $r_1 = |b|$ and $r_2 = |\gamma|$.

i.e.

$$\begin{aligned} (2.5) \quad \operatorname{Re} \psi(iu_2, v_1) &= [(r_1 - r_2)(1 + \lambda^2 r_2^2 - 2\lambda r_2 \cos \theta) \\ &+ (r_1 - r_2)\lambda^2 r_2^2 u_2^2 - 2\lambda r_2 \sin \theta u_2(r_1 - r_2) \\ &+ \lambda r_2 v_1(1 - \lambda r_2 \cos \theta) \\ &+ \lambda^2 r_2^2 \sin \theta u_2 v_1] / r_1(1 + \lambda^2 r_2^2 + \lambda^2 r_2^2 u_2^2 - 2\lambda r_2 \cos \theta - 2\lambda r_2 \sin \theta u_2). \end{aligned}$$

Since $0 < \operatorname{Arg} b \leq \pi$ (2.5) becomes

$$\operatorname{Re} \psi(iu_2, v_1) \leq \frac{A + Bu_2^2}{r_1(1 + \lambda^2 r_2^2 + \lambda^2 r_2^2 u_2^2 - 2\lambda r_2 \cos \theta - 2\lambda r_2 \sin \theta u_2)}$$

where

$$\begin{aligned} A &= (r_1 - r_2)(1 - \lambda r_2)^2 - \frac{1}{2}\lambda r_2(1 - \lambda r_2) \\ B &= (r_1 - r_2)\lambda^2 r_2^2 - \frac{1}{2}\lambda r_2(1 - \lambda r_2) \end{aligned}$$

and

$$r_1(1 + \lambda^2 r_2^2 + \lambda^2 r_2^2 u_2^2 - 2\lambda r_2 \cos \theta - 2\lambda r_2 \sin \theta u_2) > 0.$$

Now, $\operatorname{Re} \psi(iu_2, v_1) \leq 0$ if and only if $A \leq 0$ and $B \leq 0$.

From $A \leq 0$ we obtain $r_2 \geq r'_2$, where

$$r'_2 = \frac{\lambda + 2 + 2\lambda r_1 - \sqrt{\lambda^2 + 4\lambda^2 r_1 + 4\lambda^2 r_1^2 + 4\lambda - 8\lambda r_1 + 4}}{4\lambda}.$$

From $B \leq 0$ we obtain $r_2 \geq r''_2$

$$r_2 \geq r''_2 = \frac{\lambda + 2\lambda r_1 + \sqrt{\lambda^2 + 4\lambda^2 r_1^2 + 4\lambda^2 r_1 - 8\lambda}}{4\lambda}$$

It can be verified that if $0 < \lambda \leq 1$, then

$$r_2'' \geq r_2'$$

By [7] we have $\operatorname{Re} p(z) > 0$ which implies that $f \in S_n(\gamma)$.

Theorem 2.2. *Let $0 < \lambda \leq 1$. Let f be given by (1.1), where $F \in K_n(b)$. Then $f \in K_n(\gamma)$ where $|b| < |\gamma|$ and $\arg b = \arg \gamma$.*

Proof. Let $G \in S_n$ and $g(z)$ be given by

$$g(z) = \frac{1}{\lambda} z^{1-\frac{1}{\lambda}} \int_0^z t^{\frac{1}{\lambda}-2} G(t) dt.$$

We set

$$(2.6) \quad \frac{z(D^n f(z))'}{D^n g(z)} = \gamma p(z) + (1 - \gamma)$$

where $p(z) = 1 + \sum_{n=1}^{\infty} C_n z^n$. We need to show that $\operatorname{Re} p(z) > 0$ for $z \in U$.

$$(2.7) \quad \frac{z(D^n F(z))'}{D^n G(z)} = \frac{\frac{(1 - \lambda)z(D^n f(z))'}{D^n g(z)} + \frac{\lambda z[z(D^n f(z))']'}{D^n g(z)}}{1 - \lambda + \frac{\lambda z(D^n g(z))'}{D^n g(z)}}$$

Since $g \in S_n$ then

$$(2.8) \quad \frac{z(D^n g(z))'}{D^n g(z)} = H(z) \quad \text{where } \operatorname{Re} H(z) > 0.$$

From (2.6) we have

$$z(D^n f(z))' = D^n g(z)\gamma p(z) + D^n g(z)(1 - \gamma)$$

and

$$(2.9) \quad \begin{aligned} \frac{z[z(D^n f(z))']'}{D^n g(z)} &= \frac{z(D^n g(z))'\gamma p(z)}{D^n g(z)} \\ &\quad + \gamma z p'(z) + (1 - \gamma)z \frac{(D^n g(z))'}{D^n g(z)} \\ &= \frac{z(D^n g(z))'}{D^n g(z)} [\gamma p(z) + (1 - \gamma)] + \gamma z p'(z) \\ &= H(z) [\gamma p(z) + 1 - \gamma] + \gamma z p'(z) \end{aligned}$$

Using (2.6), (2.8) and (2.9) in (2.7), it follows that

$$(2.10) \quad 1 + \frac{1}{b} \left(\frac{z(D^n F(z))'}{D^n G(z)} - 1 \right) = \frac{b - \gamma}{b} + \frac{\gamma u}{b} + \frac{\lambda \gamma \nu}{b(\lambda H + 1 - \lambda)} = \psi(u, \nu)$$

where $u = p(z)$, $\nu = zp'(z)$ in (2.10)

$$\operatorname{Re} \psi(iu_2, v_1) = \frac{r_1 - r_2}{r_1} + \frac{r_2}{r_1} \frac{\lambda v_1 [\lambda h_1 + 1 - \lambda]}{(\lambda h_1 + 1 - \lambda)^2 + \lambda^2 h_2^2}$$

where $H(z) = h_1(x, y) + ih_2(x, y)$, $h_1 > 0$, and $\gamma = r_2 e^{i\theta}$, $b = r_1 e^{i\theta}$.

By taking $v_1 \leq -\frac{1}{2}(1 + u_2^2)$, we obtain

$$\begin{aligned} \operatorname{Re} \psi(iu_2, v_1) &= \frac{r_1 - r_2}{r_1} - \frac{r_2}{r_1} \frac{\lambda(1 + u_2^2)[\lambda h_1 + 1 - \lambda]}{2[(\lambda h_1 + 1 - \lambda)^2 + \lambda^2 h_2^2]} \\ &= \frac{A + Bu_2^2}{2C} \end{aligned}$$

where

$$\begin{aligned} C &= r_1 \{[\lambda h_1 + 1 - \lambda]^2 + \lambda^2 h_2^2\} > 0 \\ A &= 2(r_1 - r_2)[(\lambda h_1 + 1 - \lambda)^2 + \lambda^2 h_2^2] - r_2 \lambda (\lambda h_1 + 1 - \lambda) \\ B &= -\lambda r_2 (\lambda h_1 + 1 - \lambda) \end{aligned}$$

We notice that $\operatorname{Re} \psi(iu_2, v_1) \leq 0$ if and only if $A \leq 0$ and $B \leq 0$. From $A \leq 0$ we obtain $r_2 \geq r'_2$ where

$$r'_2 = \frac{2r_1 \{(\lambda h_1 + 1 - \lambda)^2 + \lambda^2 h_2^2\}}{2[(\lambda h_1 + 1 - \lambda)^2 + \lambda^2 h_2^2] + \lambda(\lambda h_1 + 1 - \lambda)}.$$

Thus $r_1 \geq r'_2$ and by [7], we have $\operatorname{Re} p(z) > 0$ which implies that $f \in K_n(\gamma)$.

Corollary 2.1. *Let $0 < \lambda \leq 1$. Let f be defined by (1.1), where $F \in C_n^*(b)$. Then $f \in C_n^*(\gamma)$ where γ is defined in Theorem (2.2).*

Theorem 2.3. *Let $F \in S_n(b)$ and let*

$$(2.11) \quad f(z) = (n+1)z^{-n} \int_0^z t^{n-1} F(t) dt$$

Then $f \in S_{n+1}(b)$.

Proof. From (2.11), we obtain

$$(2.12) \quad z(D^{n+1}f(z))' + nD^{n+1}f(z) = (n+1)D^{n+1}F(z)$$

and

$$(2.13) \quad z(D^n f(z))' + nD^n f(z) = (n+1)D^n F(z).$$

Using the identity

$$(2.14) \quad z(D^n F(z))' = (n+1)D^{n+1}F(z) - nD^n F(z)$$

in (2.12) and (2.13), we obtain

$$(2.15) \quad (n+1)D^{n+1}F(z) = (n+2)D^{n+2}f(z) - D^{n+1}f(z)$$

and

$$(2.16) \quad D^n F(z) = D^{n+1}f(z).$$

In view of the identity (2.14) and the relations (2.15) and (2.16), $F \in S_n(b)$ yields

$$\operatorname{Re} \left[1 + \frac{1}{b} \left\{ \frac{(n+2)D^{n+2}f(z) - D^{n+1}f(z)}{D^{n+1}f(z)} - 1 \right\} \right] > 0$$

which implies that

$$\operatorname{Re} \left[1 + \frac{1}{b} \left\{ \frac{z(D^{n+1}f(z))'}{D^{n+1}f(z)} - 1 \right\} \right] > 0, \quad z \in U.$$

This proves that $f \in S_{n+1}(b)$.

Theorem 2.4. *Let $F \in K_n(b)$ and let f be given by (2.11). Then $f \in K_{n+1}(b)$.*

Proof. Let $g(z) = (n+1)z^{-n} \int_0^z t^{n-1}G(t)dt$ where $G \in S_n$. Then $g \in S_{n+1}$. Since $F \in K_n(b)$, it follows that for $z \in U$,

$$\operatorname{Re} \left[1 + \frac{1}{b} \left\{ \frac{z(D^n F(z))'}{D^n G(z)} - 1 \right\} \right] > 0, \quad G \in S_n$$

and thus using (2.16), we conclude that for $z \in U$,

$$\operatorname{Re} \left[1 + \frac{1}{b} \left\{ \frac{(z(D^{n+1} f(z)))'}{D^{n+1} g(z)} - 1 \right\} \right] > 0.$$

Theorem 2.5. *Let $f \in K_n(b)$ and $\varphi \in C$, then $(\varphi * f) \in K_n(b)$.*

Proof. If $g \in S_n$, then $(\varphi * g) \in S_n$ [9].

$$\begin{aligned} \operatorname{Re} \left[\frac{z[D^n(\varphi * f)(z)]'}{D^n(\varphi * g)(z)} \right] &= \operatorname{Re} \left[\frac{z[\varphi * D^n f]'}{\varphi(z) * D^n g(z)} \right] \\ &= \operatorname{Re} \left[\frac{\varphi(z) * z \frac{(D^n f(z))'}{D^n g(z)} \cdot D^n g(z)}{\varphi(z) * D^n g(z)} \right] \end{aligned}$$

By [6] with $F(z) = z \frac{(D^n f(z))'}{D^n g(z)}$, $D^n g(z) \in S^*$, we obtain that $D_n(\varphi * f)(z) \in K(b)$ which completes the proof of the theorem.

Theorem 2.6. $K_{n+1}(b) \subset K_n(b)$, for each $n \in N_0$.

Proof. Let $f \in K_{n+1}(b)$, then for $z \in U$

$$\operatorname{Re} \left[1 + \frac{1}{b} \left\{ \frac{z(D^{n+1} f(z))'}{D^{n+1} g(z)} - 1 \right\} \right] > 0$$

for some $g \in S_{n+1}$.

Define $\omega(z)$ in U such that

$$(2.17) \quad \frac{z(D^n f(z))'}{D^n g(z)} = \frac{1 + (1 - 2b)\omega(z)}{1 + \omega(z)}$$

where $\omega(0) = 0$ and $\omega(z) \neq -1$. We show that $|\omega(z)| < 1$.

Since

$$(2.18) \quad z(D^n f(z))' = (n+1)D^{n+1}f(z) - nD^n f(z)$$

we obtain from (2.17)

$$(2.19) \quad z(D^{n+1}f(z))' = \frac{1}{n+1} \left[z(D^n g(z))' \cdot \frac{1 + (1-2b)\omega(z)}{(1+\omega(z))} + D^n g(z) \left\{ \frac{-2bz\omega'}{(1+\omega)^2} + n \frac{1 + (1-2b)\omega}{1+\omega} \right\} \right]$$

Now apply (2.18) for the function g and use (2.19) to obtain

$$(2.20) \quad \frac{z(D^{n+1}f(z))'}{D^{n+1}g(z)} = \frac{1 + (1-2b)\omega}{1+\omega} + \frac{1}{n+1} \frac{D^n g(z)}{D^{n+1}g(z)} \cdot \left[\frac{-2b \cdot z\omega'}{(1+\omega(z))^2} \right]$$

Since $S_{n+1} \subseteq S_n$, this implies that $g \in S_n$ and hence there exists an analytic function $\omega_1(z)$ with $\omega_1(0) = 0$ and $|\omega_1(z)| < 1$, such that

$$(2.21) \quad \frac{D^{n+1}g(z)}{D^n g(z)} = \frac{1 - \omega_1(z)}{1 + \omega_1(z)}$$

Thus using (2.21) in (2.20), we have

$$(2.22) \quad \frac{z(D^{n+1}f(z))'}{D^{n+1}g(z)} = \frac{1 + (1-2b)\omega(z)}{1+\omega(z)} + \frac{1}{n+1} \cdot \left(\frac{1 + \omega_1(z)}{1 - \omega_1(z)} \right) \cdot \left(\frac{-2bz\omega'(z)}{(1+\omega(z))^2} \right)$$

Suppose now that for $z \in U$

$$\max_{|z| \leq |z_0|} |\omega(z)| = |\omega(z_0)| = 1, \quad (\omega(z_0) \neq -1).$$

Then it follows from [6], that

$$z_0\omega'(z_0) = K\omega(z_0) \quad \text{where } K \geq 1.$$

Setting $\omega(z_0) = e^{i\theta}$ and $\omega_1(z) = re^{i\varphi}$ in (2.22), we get

$$\operatorname{Re} \left[1 + \frac{1}{b} \left\{ \frac{z_0(D^{n+1}f(z_0))'}{D^{n+1}g(z_0)} - 1 \right\} \right] = \frac{-4K(1 + \cos)(1 - r_0^2)}{(n+1)|(1 + e^{i\theta})|^2|1 - r_0e^{i\varphi}|^2}.$$

Hence

$$\operatorname{Re} \left[1 + \frac{1}{b} \left\{ \frac{z_0(D^{n+1}f(z_0))'}{D^{n+1}g(z_0)} - 1 \right\} \right] < 0$$

where $g \in S_{n+1}$ and $K \geq 1$. This contradicts our hypothesis that $f \in K_{n+1}(b)$. Thus $|\omega(z)| < 1$ and so $f \in K_n(b)$.

Corollary 2.2. For each $n \in N_0$, $C_{n+1}^*(b) \subseteq C_n^*(b)$.

Proof.

$$\begin{aligned} f \in C_{n+1}^*(b) &\Leftrightarrow D^{n+1}f \in C^*(b) \\ &\Leftrightarrow z(D^{n+1}f)' \in K(b) \\ &\Leftrightarrow D^{n+1}(zf') \in K(b) \\ &\Leftrightarrow zf' \in K_{n+1}(b) \\ &\Rightarrow zf' \in K_n(b) \\ &\Leftrightarrow D^n(zf') \in K(b) \\ &\Leftrightarrow z(D^n f)' \in K(b) \\ &\Leftrightarrow f \in C_n^*(b) \end{aligned}$$

and this proves the theorem.

ACKNOWLEDGEMENT

The author is thankful to the referee for his helpful criticism and comments.

REFERENCES

1. O. Ahuja, *Integral operators of certain univalent functions*, Int. J. Math. and Math. Sci. **8**(1985), 653-662.

2. H.S. Al-Amiri and T.S. Fernando, *On close to convex functions of complex order*, Int. J. Math. and Math. Sci. **13**(2)(1990), 321-330.
3. M.K. Aouf and M.A. Nasr, *Starlike functions of complex order b* , J. Natural. Sci. Math. **5**(1)(1985), 1-12.
4. S.M. Bernardi, *Convex and starlike univalent functions*, Tran. Amer. Math. Soc. **135**(1969), 429-446.
5. R.J. Libera, *Radius of convexity problems*, Duke Math. J. (1964), 143-158.
6. I. Jack, *Functions starlike and convex of order α* , J. Lond. Math. Soc. **3**(1971), 469-474.
7. S.S. Miller, *Differential inequalities and caratheodory functions*, Bul. Amer. Math. Soc. **81**(1975), 79-81.
8. K.I. Noor, *Quasi-convex functions of complex order*, PanAmer. Math. J. **3**(2)(1993), 81-90.
9. K.I. Noor, *On certain classes of close to convex functions*, Int. J. Math. and Math. Sci. **16**(2)(1993), 329-336.
10. S.T. Ruscheweyh and T. Shiel-Small, *Hadamard products of Schlicht functions and the Poly-Schoenberg conjecture*, Comment. Math. Helv. **48**(1973), 119- 135.
11. S.T. Ruscheweyh, *New criteria for univalent functions*, Proc. Amer. Math. Soc. **49**(1975), 109-115.
12. R. Singh and S. Singh, *Integrals of certain univalent functions*, Proc. Amer. Math. Soc. **77**(1979), 336-340.

DEPARTMENT OF MATHEMATICS FACULTY OF SCIENCE, GIRLS COLLEGE, DAMMAM,
SAUDI ARABIA

Date received January 8, 1996.